— H a*ﬂELEFJAMA?A'I .
b

elx e2dx= (4 #)=cblh #) 4 (£ £)dx

+ T ) 4

h C— /\___/ 4 7 &
ras; of Zhuay FlOX= cotirie opia burces of
Bg vo \:; A L;?O.me.a Sburce

pinion. “Caihlug Oploisn  WCW Vebers

7 | Ha,+) il )
] L J
} a b

—_—L—J;-f—ff-lﬁﬂmu—-kw_ ;_th; es.

‘.¢,4241A 14

’ Awlzf_mid_tcz}zmu_n_;ﬁs}s. o

|
g[, - _'._'E__MA_.M_DA!.L_meA?mm n.

o +  could medecl }?C,_‘?LL ivran |

We  caw 51”_?1:1-7( Qﬁa}“ihc.wfznlm;ﬂ-kl Theorcem of

C a\ Gulvs‘.

SOl )=~ txlxdx

L= Sy oelx )+ Soduix aMx =5 F1.2)

S?qter aJo are arbltrue, we obtain. B —




Vfif‘%x -':'FLX i‘) -7%0"$0rva+30m baw 1 ‘Jﬂwr‘ﬂ‘l’;al
‘L \ JA orm | C;

o |
aeder A
Sal\/e -For‘ 5 Pis

Ab;.__}).{;.ﬂgkm we, are Mp{;{ﬁ\;njf’

.

R £ ) £, C> obta. e i N___
4+ LI =0, |
L(X,0)=Uq (xL

A 550miny ‘F—'O i
7 7 Vol ] U 1) Ju(xl)
&__\

[ 5

X

———-— . —

r Yhe dmii-f 1o _meove 10 the r'.fhf at O
speed ¢ a(- |
24
Make +he i .
:f —c ) |
§ - LL-LJ!’) =0
F==CU ) = gty

= ‘Sx = U, CX"' CX)

= 1(x,0)=Us(X) v
lk#%mwwmu& anly. selugign’
TF At make h__CLA.?j_uL&LL‘ﬂ(f.S

. 2=yt T=# o
~we have that
_a_.-zﬁr_a-—kﬁ.é. =3 -

DX X 0% ax T 42 | O
=0z (4 ==-¢0 |
34 X 02 kT 2 3T

- — —




__ﬁ_wlﬁ_ﬁlﬁ_f.ha.g_n_nf_\mmm we have

k5= (= Cfat o)t Csa =0
J

= Ca. =0
Lo e

| 2
| :,angJ’t)=FCZ-)
| There fore,

| (X, )= H{x-(2).

| ;(XJO)—‘-‘-‘-F(X\= Ualx)

E AlJnlax\Af_*'_E_{._iAj_{-_LaLS!lAf‘l-;Dn =
1 1T7

The _un) o 15 therefore

u(x;;t-):': u,(;-gm

*

A—Ly_igjﬁLJ_Cm&mu‘_p_L&_ﬁlehbam_h_tk_qu# b
| Upd Coy=0 =3 plxalepplx-ct), =

vixp)= v, (x)

§
¥

— | Thecmp,

’ rd
[
L We  Know that ¢ 03 lonstunr &‘b? +he cvrves
X= (A== Conttuar
= A=

n
P 4 NUU}X)—'—W

X
oy oat . ey
LL 7
e ety =23
/ p VAR, AN /2
—




— Exémple,

th{ﬂ +

Ug +Cvg+a v=0

ulo x)=(x)

=X~ =4 a2

=T - 0 -

sF 0T g 2T X

0 =T ) 9B b =)

ok X 0T oXx2Z I

=2 Uptau=(0

= UAC T-qu
= uly, 2= (z—){af

-at

:l 'n‘.t? gL _CQndit\j png ;Enl/f

= (il X)= ?tfz—-c,#)c -

V(4 X)=F(%-4) et




